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(a) Growing clouds =55 %

——CS, N:55.73 %, M:64.59 %
DCS, N:15.47 %, M:33.19 %

—— PC, N:0.06 %, M:0.01 %

—— NC, N:28.73 %, M:2.20 %
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(d) Dissipating clouds - 45 %

——CS, N:25.65 %, M:42.43 %
DCS, N:7.07 %, M:29.29 %
——PC, N:0.29 %, M:1.08 %

——NC, N:66.98 %, M:27.21 %
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(b) Growing clouds = 57 %

—— CS, N:48.98 %, M:61.52 %
DCS, N:43.29 %, M:38.01 %

——PC, N:6.72 %, M:0.41 %

——NC, N:1.01 %, M:0.07 %

(e) Dissipating clouds — 43 %

|
—— CS, N:42.96 %, M:46.59 %
DCS, N:31.03 %, M:48.21 %
— PC, N:5.20 %, M:0.65 %
—— NC, N:20.81 %, M:4.55 %
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Dnorm,COG

(c) Growing clouds = 57 %

—— CS, N:66.53 %, M:78.66 %
DCS, N:24.50 %, M:20.90 %

——PC, N:8.64 %, M:0.43 %
\ ——NC, N:0.33 %, M:0.00 %
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(f) Dissipating clouds — 43 %

[

—— CS, N:49.30 %, M:74.38 %
DCS, N:23.44 %, M:22.77 %

—— PC, N:11.56 %, M:1.41 %

——NC, N:15.71 %, M:1.44 %




